D-AD15

Show all work for full credit Practice Assessment

The radius » of a sphere is increasing at the uniform rate of 0.3 inches per second. At the instant
when the surface area S becomes 100n square inches, what is the rate of increase, in cubic inches

per second, in the volume V' ? (S =4nr? and V =%ur3)

(A) 10m (B) 12=n (C€) 225n (D) 25= (E) 30n



2.

Oil is leaking from a pipeline on the surface of a lake and forms an oil slick whose volume increases at a
constant rate of 2000 cubic centimeters per minute. The oil slick takes the form of a right circular cylinder
with both its radius and height changing with time. (Note: The volume ¥ of a right circular cylinder with

radius » and height & is given by ¥ = zr°h.)
At the instant when the radius of the oil slick is 100 centimeters and the height is 0.5 centimeter, the

radius is increasing at the rate of 2.5 centimeters per minute. At this instant, what is the rate of change
of the height of the oil slick with respect to time, in centimeters per minute?



